Quiz 2 seolution

Fiad the 10 smallest Uniggue values ot cluster si‘bel 5“‘&"":05 with N =4,

. R . .
When 4 =) N=-o+{,zc--c..z= Y

N = 4:,11-:]14- A,J
F':IJ'I" we cmaidg/ 4 ¢ ?-) J 42,
-

N= J o Ne 3+ Aon'-\- have 10 &‘u*’:ﬂﬂf
N =51"JH 1 values of N. So. we La'aﬂd

‘2 - -
N=)e2)rt 2 csur cacuvlaton.

L2 We consides 4 43 343,
N-‘.Jf‘ﬁ\)fq €e ' ’J

3
- A?:.\J wot bh\// \wave nint 3?."‘.‘:-:,‘\'
&1

/ valvy of N, Go we Forvier

g,v.ponc\ oor calew\ation.
nwe ADn’§- Vhave Yo {-;ﬂé

Now, consider 444 j &y,
the valees oF N here / )
2 .2 .. Here  we have 14 ditiact voluve
be cawne the formola 4 r) ta) p)
of N. We need 10. Se the currem?
19 symme Yric.

10 lowest values are

L%, H,A,12,13, 10, 19,24,

Note that we cen’t stop )‘peltl)/&". We vreed o show Fhat For the 4,',,“) velves
et we Yaven'y r_onﬁclcrcAJ ﬂne./ cern?t o‘)ive. N Frat s £ 21,

Thi, is c,as)( Yo shown because {-or the L’E‘J:l) ?uirs watr we havern’t
cons'.&ere,a.’ ot lecor one of tre -i,md_" wwt be 25, Thi ;m!l:ts

*'"“)’ will 3]\;;, N 2 29, Thtvt.{“’ﬂ!; we Co’t weiss 0Ny N 21 17’ sYopping
our considescYion oot E-LH ) €y,

So, the Yen smallesty  valves of N ave

1,% 1, FA,12,13,16, 19,24,



